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(3eTg — 2)(989g)
(FET-9)
gosgIder 2.2
H3A1:
Frafoiad o 9898 Sx — 4x? + 3 & O F1d B
(i(Jx=0 (i) x = -1 (iii) x = 2
g3l
HAI p(x) = 5x — 4x% + 3
(i) x = 0TI
p(0)=5x0—-4(0)2+3=3
(i) x = -1 @AW
p(—1)=5x%x(-1)—4(-1)24+3=-5—-443=—6
(iii) x = 2 WA W
p(2)=5%x2-4(2)24+3=10-16+3 = -3
H3A 2:
fFafofad sgual # 9 Udie 9gus & g p(0); p(1) 3R p(2) I1d BT
Dp)=yi-y+1 | () p(t) =2+t +2t2 —¢3
(iii) p(x) = x* (iv) plx) = (x —1)(x + 1)
FIW2:
Dp@)=y'-y+1
y = 0 7@ T
p(0)=02-0+1=1
y = 1%E1 W
p(1)=12-1+1=1
y =2 W@

p(2)=2¢-2+1=3
(i[i)p(t) =2+t +2t%—1¢3

t=0T@E W
p(0)=2+0+2(0)2-(0)3=2

t=13W@1 W
p(1)=24+14+2(1)2-(1*=2+14+2-1=4
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(31T — 2) (989<)

(FET-9)
t=2TW@AW

p(2)=2+4+2+2(2)2-(2®=2+2+8-8=4

(iii) p(x) = x*

x=0TE@T W
p(0) =(0)* =0

x=1TE@ W
p(1)=(1)=1

x=2T@E1 W
p(2)=(2)*=8

(iv) p(x) = (x — D)(x + 1)

x=0T@A W
p(0)=0-1)0+1)=-

x=1TE1 W
pD=(1-1D1+1)=0x2=0 [

x=27@ W
p(2)=2-1(2+1)=3

HE 3:
w@aﬂﬁmﬁ?ﬁﬁqﬂqﬂﬁﬁaﬁ@ﬂﬁiﬂﬁﬁﬂwwﬁwﬁ

(Mp(x)=3x+1 x=—- (ii) p(x) = 5x — m; :r:-—

([[ii)p(x) =x2-1; x= 13,—1 (iv) plx) = (x + 1) (x = )
(VIp(x)=x% x=0 (vWi)px)=Ix+m; x=-—
i

(vii) p(x) =3x%2—-1; x=— (viii)p(x)=2x+1; x =

%l
4l

g3 3:

Mpx)=3x+1 x= _i

x = -2 AR

p(-4)=ax(-)r1=-101-0
Tep(—3) =08 3 x = -3 plx) =3x+ 1 BT YIS &I
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(3reaTg — 2) (98U3)
(EIT-9)
([[)p(x)=5x-m x =§
x = AW

p(§=5x(f)-n=1-s

T p(2) # 08 3@ x =2, p(x) = 5x — m H1 LIS T &

(iii)p(x) =x*-1; x=1,-1

x =1 TR

p(1)=(1)2-1=1-1=0

el p(1) = 08, 3 x = 1, p(x) = x? — 1 BT LIF £

x=—17@1H
p(—1)=(-1)2-1=1-1=0
TLp(-1) =08 3@ x=—1, plx) =x? - 1 F YIS ¢|

(ivljp(x)=(x+1)(x—-2); x=-1,2

x=-1 @1 W

p(—-1)=(-1+1)(-1-2)=0x(-3)=0

Tel p(—1) = 08, 3@ x = 1, p(x) = (x +1)(x — 2) B TS ¢|

x=2 @AW '
p(2) = (2+1)(2-2)=3x9=0
el p(2) =08, 3@ x =2, p(x) = (x + 1)(x — 2) T LIF &

(V) px)=x% x=0

x=0 @AW

p(0) =(0)* =0

gl p(0) = 08, 3T x = 0, p(x) = x? B LIS ¢

(vi) p(x) = Ix + m; I:—?
x = =5 AW

P(—?):jx(_?}_,.m: -m+m=0
ﬂﬁ.p(—f{l):ﬂﬁl He: x = '% F[ﬂz!x+mﬂﬂ'2ﬁﬁi§|

. e gtz 4 o
X = —— T W

V3
(—l)-a(—l)z—l-3;-:1—1—1—1-[!
P\"73 3 3 =
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el p(—5) = 08 9@ x = — L, p(x) = 3x* — 1 HT YIS |
2
x=ﬁmﬁm 2
2 2 4
p(ﬁ):g(ﬁ] —1:3K§—1=4—1:3
TEL p () # 08 3 x = = p(x) = 3x2 — 1 1 D eI €|

i) p(x) = 2x +1; x =
x = AW

(1)—2x(1)+1—1+1—2
B g s g SeRRiats

ﬂﬁp(i)a&ﬂ%,ﬂﬁ=x=%, p(x) = 2x + 1 H1 LTS el g

A3 4:

Faferad feufaal o & uds fRufa & 9gug &1 g+ 31d Sif:

((Jp(x)=x+5 (ii) p(x) =x -5 (iii) p(x) = 2x + 5
(iv) p(x) = 3x - 2 Vplx)=3x (vi)p(x) =ax, a0
(vii)p(x) =cx +d; c#0, ¢, d aEaF TE

LIm4:

(plx)=x+5

plx) =0 TWHAH

x+5=0

=x=-5

3k, x = —5,95US Bl p(x) TIF ¢

(ii) p(x) = x =5

p(x) =0 @AW
x=5=0
=x=5

3, x = 5, 989E 9 p(x) TP ¢l
(iii) p(x) =2x+ 5

p(x) =0 @AW
2x+5=0
=.‘:-;[r=—E

2z

oHa:, x = —E,WWP(I}W %1
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(3rTd — 2) (JgUa)
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(iv) p(x) = 3x -2
p(x) = 0 @AW
3x—-2=0
>x=2

3

3d, x = 2, 9gUE B p(x) [IP Bl

(v) p(x) = 3x
p(x) =0 @AW
Ix=10

=x=10

3T, x = 0, 98U & p(x) TIF Bl

(vi)p(x) =ax, a#0

p(x) =0 @AW
ax =10
=x=10

3, x = 0,9gUS $I p(x) TIAF 2|

(vii)p(x) =cx+d; c#0, ¢, d ﬂlﬁiaﬂf'ﬁ"ﬁlﬁ%ﬁl
p(x) = 0 T@A W

cx+d=0

d
=SxX=s-——
€

3, x = — =, TGUE B p(x) T[AP ¢
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